 Retrouve les temps du verbe impersonnel neiger.                                                                                               
	
  Indicatif plus-que-parfait                   

	
 conditionnel présent

	
  Infinitif passé

	  participe passé

	
 indicatif futur

	
 subjonctif

présent

	                   
  infinitif



	
Conditionnel passé

	
 Indicatif passé simple

	Ma

       participe

p     présent


Qu'il neige.





Neiger.





Il neigea.





Il neigerait.





Avoir neigé.





Neigeant.





Il avait neigé.





Neigé.








Il neigera.





Il aurait neigé.








